Ses =
T HOA fF OE
TEJE = 4
4 FEEN AR FESH
X5 FEa—F = ¥ 4
ke 05311 RS A E PR
(A7 - TH)
AR TE (D) A FE RLURERE FREERE (B) P g (B-A)
1,085, 333 1,102, 258 1,102, 258 16, 925

}

H (=R LEHICEAT O MES] ICESE, =R LR OBEEREE 2179 2, & 4
| MERR OMERFE FL SRR AT 5 b O,
<UARAISCH > 1,058,511 T-H
1 B 417,383 T-1
FE 4R B T T R M B 3844 B O AR AT Il B D A5 B4

2 WHEE 1,040 T

3 {HAEn T 5,577 T
" 4 IS 257 11
# 5 TR O 172,586 T
3 6 EfEkt 16, 487 T-H
[6) 7 fEREE 72,036 T
= 8 @E 2,948 TH
o 9 HHEHE 364 T
A 10 BHE KO 327,398 TH
3 11 i 10 -1
i 12 sy 1,545 T

13 fRBRE: 22 TH

14 VBB M O 5 1 2 40, 858 T-H

<EARMIH > 43, 747 T
1 =ORBy Kb R B i 43,747 T-H




